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Intermediate Microeconomics
(ECON 520)

September 20, 2005 Professor D. Weisman

There are two parts to this examination weighted 50 points each. Please write legibly and
think carefully about your answers. You may find that graphical and/or mathematical
analysis will assist you in answering some of these questions. Good Luck!

Part 1. Multiple Choice (50 points). Indicate your choice for the best answer to each
question on the standardized answer sheet provided.

1. Which of the following is a positive statement?

a*

A course in microeconomics tends to increase student scores on the law
school admissions test (LSAT).

b. College football coaches should not be paid more than economics
professors.
c. Smoking should be restricted on all airline flights.
d. Requiring all students to take at least one semester of Calculus is a bad
idea.
e. None of the above.
2. In order to determine whether hurricane Katrina is more costly than hurricanes

Andrew and Hugo, it

is necessary to compare the damage in nominal dollars for each of the

a.
three hurricanes.
b. is necessary to compare the damage in real dollars for each of the three
hurricanes.
c. will not matter whether real costs or nominal costs are compared.
d. will be necessary to take into account the change in the value of the dollar
over the time period of each of these hurricanes.
e* bandd.
3. MBA applications tends to increase during downturns in the economy because
a. the opportunity cost of earning an MBA is lower during these times.
b. there are fewer high paying jobs available during these times.
C. tuition expenses are lower during economic downturns.
d. student loans are plentiful during economic downturns.
e* aandb.
4. Atechnological advance in automobile production will likely result in
a. a decrease in the equilibrium price of automobiles.
b. an increase in the equilibrium price of automobiles.
c. no change in the equilibrium quantity of automobiles.
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e*

an increase in the equilibrium quantity of automobiles.
aandd.

Use the following information to answer the next four questions:

The demand for booksis: QP =100- 1P

The supply of books is: Q%=4p
5. What is the equilibrium price of books?
a. 5
b. 10
c. 15
d* 20
€. none of the above.

What is the equilibrium quantity of books sold?

a.
b.
C.
d.
e*

25

50

40

100

none of the above

The price elasticity of demand at the market equilibrium is

ax*
b.

c.
d.
e

inelastic.

elastic.

unitary elastic.
inferior.

none of the above.

What is consumers’ surplus at the market equilibrium?

a.
b.
c.
d.*
e.

400
900
1600
3200
6400

Government regulations that mandate the use of child safety seats on commercial
airplanes would more likely to cost more lives than it saves if

airline travel is an inferior good.

the own price elasticity of demand for automobile travel is equal to -1.

the cross-elasticity of automobile travel with respect to the price of airline
fares is relatively small.

the cross-elasticity of automobile travel with respect to the price of airline
fares is relatively large.

none of the above.
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11.

12.

13.

14.

15.

Suppose that the price elasticity of demand for electricity is -1.5 at the market
clearing price and that supply is perfectly inelastic. What will result from a price
ceiling that is 10 percent below the market clearing price?

a. Consumers will be better off.

b. Consumers may be better or worse off.

c. A shortage equal 15 percent of the market clearing quantity.
d* aandc.

e. bandc.’

The short-run demand function for automobiles is given by Q” = 20 — 4P. Which
of the following is most likely to represent the long-run demand function for
automobiles?

a* Q°=20-3P

b. QP =20-4P.

c. QP =20 - 5P.
d. QP =20-6P.
e QP =20-17P.

If the prlce of gasoline were to increase ceteris paribus, this would be expected to
result in:

a. an increase in the equilibrium price of automobiles.

b.*  adecrease in the equilibrium price of automobiles.

c. no change in the equilibrium price of automobiles.

d. an increase in the consumers’ surplus in the market for gasoline.
e. none of the above.

A business firm faces a demand curve for its product that is given by Q = 20-P.
The firm implements a small price change that results in an increase in both
revenue and consumers’ surplus. This implies that the

a.*  price was reduced and the initial price was greater than 10

b. price was increased and the initial price was greater than 5.
c. price was reduced and the initial price was less than 10.

d. price was increased and the initial price was greater than 8.
e none of the above.

If a firm sets a price at which the price elasticity of demand is equal to -2 then

a. the firm is maximizing revenue at this price.

b. a small change in price will not result in a change in revenue.
c. the pnce should be raised to increase revenue.

d.*  the price should be reduced to increase revenue.

e. aandb.

The price elasticity of demand is ~2. If demand decreased by 10 percent, then the
price

a.*  increased by 5 percent.

b. decreased by 5 percent.
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17.

18.

c. increased by 10 percent.
d. decreased by 10 percent
e. none of the above.

The price elasticity of long-distance telephone service is —0.7 and the cross
elasticity of long-distance and local telephone service is —0.25. Price changes are
implemented that result in an increase in the quantity demanded of long-distance
telephone service of 10 percent. If the price of long-distance telephone service is
reduced by 20 percent, what is the implied change in the price of local telephone
service?

a. a 10 percent increase.
b. a 10 percent decrease.
c.*  a 16 percent increase.
d. a 5 percent increase.
e. a 5 percent decrease.

Suppose that the demand function for legal services is given by Q = 100P™¢,
where P is the price of legal services and Q is the quantity of legal services
demanded. A 20 percent increase in the price of legal services ceferis paribus
implies that ;

a.*  the demand for legal services will decrease by 12 percent.

b. the demand for legal services will increase by 12 percent.
C. the demand for legal services will decrease by 6 percent.
d. the demand for legal services will remain unchanged.

e none of the above.

Suppose that market demand is perfectly inelastic at quantity Q°. An increase in
the market price from 4 to 8 increases total revenues by 400. This implies that Q°

is equal to

a. 50.

b.* 100.

C. 200.

d. 400. ,

€. This cannot be determined from the information provided.

Use the following information to answer the next 2 questions. The demand for product 1
is given by Q; = 40 - 4P, - 2Y - 1P,, where Q, is the demand for product 1, Pyis the price
of product 1, Y is income and P; is the price of product 2.

19.

20.

Product 1 and product 2 are

a. substitutes.

b.*  complements.

c. independent goods.
d. none of the above.

An increase in Y, ceteris paribus, will
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S

a*  increase the own price elasticity of demand for product 1 in absolute

value.

b. decrease the own price elasticity of demand for product 1 in absolute
value.

C. have no effect on the own price elasticity of demand for product 1.

d. increase the demand for product 1.

e. none of the above.

Part IL Problems (50 points). There are two questions and each question is worth 25
points. Show all of your work to receive partial credit. Write legibly and be precise with
your answers.

1.

2)

b)

d)

d)

Analysis of Supply and Demand.

When the price is 0, firms supply O units of output. When the price is 2, firms
sugaply 4 units of output. Find the equation of the linear demand supply curve:
Q® = a + bP, consistent with this data, where b >07? (6)

Suppose that the demand function is given by Q° = 36 — 4P. Use the supply
function you derived in part a) to determine the equilibrium price and quantity in
this market. (6)

Tlustrate your results in part b) graphically and clearly label the vertical and
horizontal intercepts. Determine the consumers’ surplus at the market
equilibrium? (6)

Continue to assume that demand is given by QP =36 - 4P. Suppose now that the
supply function is perfectly inelastic at a quantity of 12. Determine how much
better/worse off consumers are relative to the free-market outcome if the
government imposes a ceiling price of P™* = 47 (6)

Suppose that the demand for air travel is given by Q*=20- P” + 1, where Q* is
quantity of miles flown per year, PA is the price and I is per-capita income. In
addition, the supply of air travel is given by Q*=P"- S, where S is an index that
measures expenditures on airport/airplane security.

Solve for the equilibrium price and quantity of air miles. (8)
Determine how the equilibrium price of air miles varies with S and I? ©)

Suppose that the demand for automobile travel is given by QM = 64 — 6P% + 5PA,
where QM is the quantity of miles driven annually (in millions of miles) and PC is
the price gallon of gasoline. The government has proposed that the airlines
double S from 4 to 8. Using your findings from part a), determine how many
additional miles will be driven as a result of the proposed increase in S. (6)

The government estimates that there are 10 automobile fatalities for each
1,000,000 miles driven. How many lives must be saved as a direct result of the
proposed increase in S for there to be a net reduction in the number of lives lost?
Provide the economic rationale for your answer. (6)




